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�!(15©) �x0 = 0, x1 = 1, x2 = 2, f(x0) = 1, f(x1) = 4, f(x2) = 6±9f ′(x1) = 2§Á¦õ�ª
P (x)÷vP (xi) = f(xi), i = 0, 1, 2§�P ′(x1) = f ′(x1).
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�!(15©,z�K5©) ®��Î¡P (u, v) = (a cos
u

a
, a sin

u

a
, v).

(1)�Ñ1�Ä�/ª¶
(2)�Ñ1�Ä�/ª¶
(3)¦{­Ç9Ù��"
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n!(20©) �!:S�U = {0, 0, 0, 1, 2, 3}§
(1)|^de Boor-Cox úª�Ñþã!:S�þ��N�gB�^Ä¼ê¶
(2)�\­!:u∗ = 1§��Ñ#�!:S�U∗ = {0, 0, 0, 1, 1, 2, 3}þ�B�^Ä¼ê"
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o!(20©§z�K10©)
�3gBézier­�÷v��^�µP (0) = (0, 0),P ′(0) = (1, 1),P (1) = (3, 1),P ′(1) = (1, 0).
(1)|^à:5�§¦þãBézier­�P (t)¶
(2)òTBézier­�,��4gBézier­�.
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Ê!(15©§z�K5©)��Ú^�r(t) = (a cos t, a sin t, bt)§Ù¥a, b�~ê§�a > 0.
(1)¦þãëê­��­ÇÚFrenetIe;
(2)�Ñ3l�ëêe�ëêL«p(s);
(3)¦­����²¡.
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8!(15©)�²¡n�/T �¡È�I�u, v, w �u+ v + w = 1§
(1)Á�ÑTþ�ngBernsteinÄ¼êB3

λ(u, v, w)§ λ = (λ1, λ2, λ3), λ1 + λ2 + λ3 = 3¶
(2)¦Ä¼êB3

(3,0,0)(u, v, w)3n�/n>þ����ê¶

(3)y²Bernstein Ä¼êB3
λ(u, v, w)�È©��5µ∫

T

B3
λ(u, v, w)dS = A/10,

Ù¥A�T�¡È"
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